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Please check that this question paper contains 16 printed pages.

Code nuniber given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 28 questions.

Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer script during this period.

maﬁaﬂﬁﬁﬁw'm-wﬁgﬁawls%l'
mwﬂm@mﬁﬁ@m%waﬁww-g@m%g@wmml
F9T S W A 5 39 yvE-F ¥ 28 W €

FHUT TV &7 AT T@T JE H A Ugd, W &1 wmuie IEyy o |

W - R TR F AT 15 e @ e e T @ | owee-w @ e gl #

10.15 =9 fRaT ST | 10.15 9 ¥ 10.30 99 q% SF I TA-UT A WA K
3 Efy % dRE 3 ST W HRE W T faEn |

ACCOUNTANCY
Time allowed : 3 hours | Maximum Marks : 80
frefRa gag : 3 v | ST 3% : 80
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General Ihstructions e

(i)
(i)
(Tii)

(iv)

= [ :

(i)
(ii)
(iii)
(iv)

This question paper contains three parts A, B and C.
Part A is compulsory for all candidates.

Candidates can attempt only one part of the remdining parts
B and C.

All parts of the questions should be attempted at one place.

WI-F AT A A g - @ AN T

yrr % g4 e & fow a8

et @ Oy @ ek T ¥ WY w9 5T AT B
&5t 357 & o 9 & IW wF & W W fafEe |

PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms

1. List any two main sources of income of a Not-for-Profit organisation. R

and Companies)

T =

(mm,mﬁﬁmmﬁﬁ%mm)

TF FEER WIeT @ A & g Qg | @ gE 9 |

2. State the provisions of Partnership Act 1932, in the absence of a
partnership deed regarding (i) Interest on Partner’s Drawings and
(ii) Interest on Advances other than Capital. -1
Wm@@%qaﬁm(l)m%mmwwm)m(@% ~
) | = & g § wEel sfefd 1932 $ TEUE FaRe | -

3. Give any one difference between reconstltutlon of a firm and

dissolution of a firm. ‘ 1
@W%meﬁ%wﬁaﬁi@wﬁml
4. How does the nature of business affect the goodwill of a firm ? 1

U & YA 59 YR T B @ wnfa @ oy st @ 2

5. Give the meaning of ‘Registered Capital’ of a company. 1
TS FE S GSiga §S & el §f
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6. From the following information of a club, show the amounts of Prize
awarded and Prize Fund in the Financial Statements of the club for
the year ended on 31°* March 2009 and 31%* March 2010 :

Details : Amount

‘ £4
Match Expenses ~3,00,000
Match Fund 1,70,000
Donation for Match Fund . ‘ 90,000
Sale of Match Tickets 25, 000

ﬁwﬁ@awﬁ@m%31qﬁf2009aa131mf2010ﬁm‘€ﬁa®
TNl F [ER B au R @y $ i R i el § gl -

faeror ‘ arsr
- 4
¥ =y ‘ - | 3,00,000
i fafy 1,70,000
¥ fify & fog T= - , 90,000
- A9 sl &1 fawa 25,000

7. Jain Ltd. purchased machinery ¥ 10,00,000 from Ayer Ltd. 50% of the
payment was made by cheque and for the remaining 50% the company
issued Equity shares of ¥ 100 each at a premium of 25%.

Pass necessary journal entries in the books of Jain Ltd. for the above
transactions. 3

S fa. T er=R fA. ¥ % 10,00,000 F ARG T W | 50% HPTEH A6 FR
foam T q I 50% F P T 100 TS & Guar 7w, B 25% & Sfm
R frifee & T o, & 3R mE

I Al & faw S fa. F e § omavas Ismwn sfafet g |

8. P Ltd. redeemed its 360, 9% Debentures of ¥ 100 each, ‘which were
issued at a premium of 5%, by converting into Equity shares of ¥ 10
each, issued at a discount of 10%. Pass the necessary journal entries in
the books of P Ltd. for the redemption of debentures. 3

. fa 3 T 100 A% F J 360, 9% U, R 5% & Mww w frifim
fFam T @, # WMET T 10 TS & Guar oW, R 10% & g W e fowar
T, # uRafia = F | R % oee & o @ fa @ e d STewEs
Isr=n Sfafear Fie |
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9. Ram and Shyam were partners in a firm. After crediting the pr

the year ¥ 2,00,000 .in their Capital Accounts, the balances of
capital were Ram ¥ 4,00,000 and Shyam ¥ 3,00,000. During the ye
Ram withdrew ¥ 80,000 and Shyam ¥ 1,00,000. It was found that
interest on Capital and Drawings @ 10% p.a. as provided in the
partnership agreement had not been allowed and charged to the
partners capital accounts. Pass the necessary adjustment entry.
T T T TE B OF GEER ¥ | af F A T 2,00,000 SHE ISt @Rl ¥ hfee
A F UYEN, 396 GSff W % W T T 4,00,000 q90 @ T 3,00,000 ¥ | T
& 0 T 3 T 80,000 T AW 1 T 1,00,000 F @1 fFAT | Jg FE g R
TRl gow § el G o o W 10% W a8 = WRRl & ¢S @
#F 9 S e mEr iR 9 AW fR T | eavEs gERisH Sy SR |

10. J and K are partners in a firm. Their capitals are J T 3,00,000 and K -~
¥ 2,00,000. During the year ended 31.3.2010 the firm earned a profit of :
¥ 1,50,000. Assuming that the normal rate of return is 20%, calculate
the value of goodwill of the firm : 4
(i) By capitalisation method and

(i) By super profit method if the goodw111 is valued at 2 years
purchase of super profits.
S A F o F UgeR €1 s § B 20 S T 3,00,000 7@ ¥,
% 2,00,000. 31.3.2010 H T« §C &4 ¥ ®H 7 T 1,50,000 F AW FA | T8
,qm%gqﬁmﬁmazo%% ﬁaﬁ@rﬁfaﬁmm
() Yol fafe g aen
(ii) wmmﬁmwwaﬁaﬁ%aaﬁ%m%mm
fera e @ | -

11. Pass the necessary journal entries for the issue and redemption of ~
Debentures in the following cases : 4 -~

{) 15,000, 10% Debentures of ¥ 100 each issued at 10% premium,
repayable at par.

(i)  6,00,000, 12% Debentures of ¥ 500 each issued at 5% premium,
repayable at 10% premium.

WW%WEW%WWWWW
(i) 15,000, 10% #oT9 T 100 Y% F foiaa 10% $fEm | gav, St 90

W Y |
(i)  6,00,000, 12% %9 T 500 Y& & fwiwA 5% wfmw W gewm, s
10% s g & |
67/2/1 4
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12. From the following items of Receipt & Payment A/c of Bharti Club fo
the year ended 31.3.2010, prepare an Income and Expenditure

Account :
04

Salaries paid m
Lighting expenses o 15,000
Stationery - ' , 13,500
Subscriptions received (including ¥ 2,000 received in o
advance and ¥ 8,000 for the previous year) 1,40,000
Net proceeds of Refreshment Room 91,000
Miscellaneous Expenses ‘ 24,000
Half year’s interest paid on loan | 2,400
Rent and Rates (including % 1,500 pre-paid) | 15,000

Lockers Rent received 6,700
Additional Information : - -

Subscriptions in arrears on 31.3.2010 were ¥ 9,000 and half year’s
interest on loan was also outstanding.

3132010@W@ﬁ%mmm%ﬁm@amﬁ@w@ﬁ
F W A A A & TE R KT

4
9 A 1,50,000
Y = | 15,000
SR | 13,500
T W g (% 2,000 W d@4r T 8,000 frew af & faw wimferm) 1,40,000
SAIE R ¥ Y[E Tfa - , 91,000
fafr = S 24,000
mmm&a&%mwwm 2,400
fear @ X (% 1,500 fm am wfeq) 15,000
e Frar wife R 6,700

fdlch T - ‘ |
31.3.2010 F M W=7 T 9,000 A T KO W AY T H A A 7 41 |
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cash) and outside liabilities have been transferred to Realisat:

Account : )
) R paid creditors ¥ 17,000 in full settlement of their claim of
T 20,000.

(ii) L agreed to pay his wife’s loan ¥ 70,000.

(1ii) Stock T 40,000 was taken over‘by R for ¥ 39,000.
(iv) Other assets realised ¥ 39,000. '

(v)  Expenses of realisation ¥ 4,900 were paid by L.

(vi) Loss on dissolution ¥ 9,000 was divided between R and L in the

ratio of 3 : 1. : N
fafaer wroferdll (A & faftw) qan @ el & agel @ § wEaia w9 F
U R A T B W F T & g fefafgs @l & faw s

A wfafeat S - - -
(i) 9 T T 20,000 F WA F @ F Pl PAE @ T T 17,000 FPEAE
foam | ’

() WA X S T H RO T 70,000 FPEE T F OweHE & |
(iii) M. 9 T 40,000 & =% H ¥ 39,000 # & foram |

(iv) = Tfedl ¥ ¥ 39,000 M §C |

(v) T 4,900 sl @4 & e wd. 3 R

(vi) THE W T 9,000 F T F faueE AR, d wA. H 3 : 1 F U H
mnvml

14. On 1.1.2007 a Public Limited Company issued 5,000, 10% Debentures
of ¥ 100 each at par which were repayable at a Premium of 10% on
31.12.2011. On the date of maturity, company decided to redeem the
above mentioned 10% Debentures as per the terms of issue, out of
profits. The Profit and Loss A/c shows a credit balance of ¥ 6,00,000 on
this date. The offer was accepted by all the Debenture-holders and all
the Debentures were redeemed.

- Pass the necessary journal entries in the books of the Company only
for the redemption of Debentures, if the Company follows Sec. 117 C
of the Companies Act. 6

67/2/1 6

www. StudentBounty.com
-Homework Help & Pastpapers


http://www.studentbounty.com/
http://www.studentbounty.com

~0'Ld /

‘'syueoridde
I9Yj0 9y} 03 siseq ejer-oxd uo soreys oYy} Jo ddue[eq o[ OF (II)
'sexeys (000°0g I0j perfdde pey oym Ieqsyy o3 [[0J ur jo[[e of (T
'saxeys 000‘0¥ 10J par[dde pey oym ueurey o} saIeys %0S PaMONY (1)
: Smof[[o] se sjuedrjdde Sururewraa 8y} 01 pajo[[e dIoMm

soleyg ‘pepunjor sem Asuow uorjeorjdde Iteyj pue pejoalex arem sereys
000°0% .Iq; suongeor[ddy -sexeys (00‘0Z‘g JI0J POAIdal axom suonyestjddy

e.mqs 1ad g > T[eD [eUl] PUe IS UQ
aaeys Jad g ) Juaurjoqy uQ
aqeys gad ¢ ) wuonesrddy uQ
, : SMOJ[O] s®e a[qe&ed‘sem junowre ay,J, ‘'yoee QT 2 Y,
Jo soxeys Lymby (00‘00‘T Sumsst 10 suorjesridde pajlaur ‘py 1YeYS
40

8 ‘suorjoRsuUR.I)
aAoqe 9Y) 10] Auedwod 9y} Jo syo0q oY} ul saLrjud [euanol Lressedou sseq

‘pred A[ry 0971 2 38

PonsSI-o1 919M SaIRYS paua;.zo; aqL ‘PelIoLIo] odomM ¢ pPUB Y Yj0q JO sereys

Y], '[[e2 Teuy pue puodes oy} Aed 0} pa[rej sexeys (00T PoIO[[e Sem

oyM ¢ ‘wiIy 03 Pajjo[[e Sodeys 9y} UO [[eD [BUIJ puk PU0IdS pue [[Bd }SIy

ay) Aed o) pofrey saxeys 000G 10§ pe;[dde peYy oym y ‘opewt aIom S[[ed

IV ‘sjueorjdde Sururewrad ay)} 03 siseq ejei-oxd U0 pojjo[[e oI9M Saleyg

"POpUNjoI SeM WAY) WOLJ PIAISdaX Lsuowr oY) pue pajosfor arom sareys

000°ST 10} suorjeorddy ‘peAleosl alom SaIeysS (00‘GL 10] suorpeorddy
soueleqg — [[BD [BUL] pu®e puodeg uQ

axeys Jod (Q1 2 wnrwaxd Surpnour) oS 2 (8D qs.n& uQ o
axeys xod '

(0T 2 wnrtwaxd Btnpn[our) oy 2 queuno[[v pue uorjedrddy uQ

: SMO[[0]

se ajqefed sem junowe oayJ, ‘yowo g » Jo wmrweid ® je yows 0T 2

Jo saxeys Lymbyg 000‘0g Sumsst 1oj suonjedrdde peojlAul Py BWAY ‘CT

| @ blis Lty lndbEle 1 s LTT Dk (% bbblhjle lht M8 (bt

Yo Wl fedalk lebleisy Shible Lo bl % fhiak Bete 2 (60 Lo
| Lkl lbb| o bk

Ib lkhlod b LkD lbid] Mo Mtblby b lbMIk-khintk [k L% bIDNE | 1k 000°00°9 2
big Il j DIEr BY3-hID % bbb bl BE | Lkl blob] I kb RIS B & bld
Nhble % DIt 1o bbb 1o lkhiok %0T ©hhe b btk 2h Ibbhih L& B ki
| Iz 142 dh hbhjlk %0T L TT0Z'TIE khld bkl ‘bt dh hobbiy khib] ‘B %

www. StudentBounty.com
-Homework Help & Pastpapers


http://www.studentbounty.com/
http://www.studentbounty.com

Excess application money was utilized in payment of allotment a
call. All calls were made and were duly received except the first an

were forfeited. The forfeited shares were re-issued for ¥ 9 per share fully
paid up. _ ‘
Pass necessary journal entries in the books of Shakti Ltd. for the above
transactions.

g f&1. 3 T 100 ¥2F & 30,000 wer AW H T 20 wfa 3w & sAfyEw. w Foifia
FH & fu emeed Wb fRT | Ui & w1 YER @ & oo

e q AW W T 40 (T 10 Nfygw afza) wfa ofw

Wtﬁmm?m(?loﬁﬁmw‘sﬁ)qﬁw

TEd g A A W — 9y
75,000 37¥ & T AT I gL | 15,000 FW F fAC WA F | W e
T Gl 9 SEEA % WY Ww ARl @ avd & R T | WY SIETs R
AU SMER W 3feh & oveled fwar mar | it A A5t & W | % e
2,000 ¥ F @ ameed fear o1 9 ofEfed oWl W WUW A TE WA oA
sifem I F PEE T8 W TH ) @, 9 1,000 e # e e o,
I 0 qor A ArEr @ e A RRT | F @ @ QA & SN @ s &
forn e 1 e fopw e ol W X 160 W stw A w ¥ i wew T frlw &
fear |
IRE el & AT FA H O EvEs IsAm wfafEE SN |

e

e fA Y T 10 7% & 1,00,000 T ¥ % v ¥ faw sm@ed i
fow | T & TE 79 TER ¥ @ @

amaes W T 3 uid sy

e W T 2 i 7w ,

SO A AfH A W T 5 9 e
2,20,000 3 & faw aEcT W@ gC |- 20,000 N F fAC A B T W
ﬁmmmaﬁmuﬁrmm?&nﬁl@waﬁmaﬁmﬁwmﬁw
TR ¥ R m o

() T W 50% SN H e fEA T, w%r4oooomﬁ%;f‘aqanéﬁﬁm
q7 |

(i) R F Tl Imafcq N & emEe A T, mﬁzoooom%ﬁq
amaed fFar an | -
(iii) ﬁwmﬁaﬁmﬁ&wwwwﬁaﬁﬁmﬁaﬁmwu
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R amaed U &1 T arded Ui o aifd g U & A &
fpar | R grEd AT S T e I SR & Uw oTeeE S Blea, R
600 3i¥li &1 ated fovam o, Wit W @ T | 39 ESH 3 wAW adr Nfw
mwwﬁﬁm1wﬁw@ﬁwmﬁmwnmmmm
® T 9 ufa v pf wew g frifm o fear man

IR aFe & fag wfe fa ﬁmﬁmmmwl

16. S and T were partners in a firm sharing profits in the ratio of 7 : 3.
Their Balance Sheet on 31.3.2010 was as follows :

Amount | | | Amount
Liabilities X Assets 4
— Creditors 40,000 | Bank 36,000
Bank overdraft 1 20,000 | Debtors 46,000
General Reserve 10,000 | Less Provision 2,000 44,000
Capital Accounts : Stock ' 50,000
S 50,000 ‘ Machinery : 30,000
T 40,000 | 90,000 |
1,60,000 | 1,60,000

On 1% April, 2010 they admitted R as a new partner for 1/4™ share
in profits on the following terms :

1) R will bring ¥ 30,000 for his capital and T 10,000 for goodwill
premium.

(i) 20% of general reserve will be transferred to provision for bad
and doubtful debts.

(1ii) Stock and Machinery will be depreciated by 40%.

(iv) Capital accounts of S and T will be adjusted on the basis of R’s
capital, for this purpose actual cash will be brought in or paid off
to S and T as the case may be..

Prepare Revaluation Account, Partners Cap1ta1 Accounts and Balance
Sheet of the firm. - 8

OR

67/2/1 ‘ 9 ‘ . P.T.O.
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A, B and C were partners in a firm sharing profits in the ratio o
Their Balance Sheet as on 31.3.2010 was as follows :

Amount

Liabilities 4 Assets
Capital Accounts : Furniture

A 10,000 Stock 4,000

B 5,000 | Debtors 6,000

C 5,000 20,000 | Bills Receivable 2,000
General Reserve 3,200 | Cash at Bank . 5,000
Creditors 3,000 | Cash in hand / 200

26,200 | 26,200 | -~

On 30.6.2010 C died. Under the provisions of partnership deed the
executors of a deceased partner were entitled to the following :

(1) Amount standing to the credit of partners capital account.
(ii) Interest on capital @ 5% ﬁ.a.

(iii) Share of goodwill on the basis of two years purchase of the
average profits of last three years.

(iv) Share of profit in the year of his death, till the date of his death
’ on the basis of the last year’s profit.

The profits of the firm during the previous threé years were as

follows :
Year Profit ‘ -~
4 -
2007 — 2008 5,000 |
2008 — 2009 9,000
2009 — 2010 7,000

C’s executors were paid X 1,800 on 1.7.2010 and the balance in three
equal instalments of equal intervals of 6 months starting from
31.12.2010 with interest @ 10% per annum. '

Pass necessary journal entries, at the time of C’s death, prepare C’s
Capital Account and C’s Executor’s Account upto 31.12.2010.

67/2/1 10
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T a9 3. TF B A GEeR 4 99 7:3 F U § @ sfed ¥ 1 31.3.20

H I fafq faewor fr yoR @ @1

< Tfyr _ ¥
4 qfaar 4
AR 40,000 | 9% 36,000
& arfufoed 20,000 | SR 46,000 |
T g9 10,000 | ST STEH 2,000 44,000
IS @ =i 50,000
TE. 50,000 wfte 30,000
3. 40,000 90,000
1,60,000 1,60,000

1 a4, 2010 3 SR AW F 1/4 T ¥ BT IR, F £ I R T T4 GERR

qq147

(i) 3R T 30,000 3w §Sht & forw o ¥ 10,000 ©fa v & faw @ |

(ii)
(iii)

(iv)

YA FET H 20% gEa ®wT & g smewe # weiaia e smom
RiF ad M0 W 40% H Iodgi™ oIEr S |
. a3 F G T @ R # IS % R W wEEfa R s,

fefa sER mmm.wa.mmwﬁwﬁmmﬁm

Sieo il

T @, WEERl & IS @ qn 98w o fafy e aeRT |
Frgan

F, @ T T TF G F WEER & a9 2:1: 1F o § @ a3 1 31.3.2010
i 3 Reafa foeror fr yaR ar -

4 3

gt & e 9,000
% 10,000 wih 4,000

g 5,000 TR 6,000

T 5,000 20,000 | 1= faret 2,000
iR 3,200 | I%S I& # 5,000
ATER 3,000 | i%% & 200
26,200 26,200

67/2/1
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17.

18.

19.

30.6.2010 ® 7T FH W\ T T | LK TG F TG F IFER
% froeasl @ f 23 o

G  wEeR ¥ T En A

Gi) I W 5% fa o N X =W

(iii) mﬁﬁmmﬁ@ﬁmaﬁ%aﬂmm%ﬁw%wmn
(iv) TG & 98 § 3uS gy o oy a% sue A @ v, few af & am &

YR |
froe &9 auf ¥ wi @ @ fre R 9
t T
2007 — 2008 | 5,000
2008 — 2009 9,000
2009 — 2010 7,000

Vné;ﬁwaﬁa?r172010@?1800mwmﬁmﬁamﬁﬂmw

T TR F eTg-aite v § 10% e @ 9fgd 31.12.2010 § JF &
fer Smom 1

wﬁm%waﬂmmwﬁmaﬂm T % ¢St @ $RY W T &
froaes &1 @R 31.12.2010 @& TR HINT |

PART B

(Fmancml Statements Analys1s)
T 9
(fafim faraton =1 farveiwon)

State the interest of trade unions in the analysis of financial
statements. '

faeira foraoll & fagomur # afies @6 & fga & sany |

State with reason whether the withdrawal of "cash from bank for office
use will result into inflow, outflow or no flow of cash.

SR Gied TR fF T g6 § FEied ST & A Es & fEen @ A6 @
A, e T I Y TG TE G |

State any two abjectives of preparing a ‘Cash Flow Statement’.

UFe TR faaor T F B A R Ta_T |

67/2/1 ‘ » 12
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20. With the help of the following information obtained from the books o
Raj Silk Mills prepare a Comparatlve Income Statement for the year
ended 31.3.2010 :

31.3.2009 31.3.2010
Sales | 200% of cost of goods sold | 300% of cost of goods sold
Cost of goods sold % 10,00,000 ~ %12,00,000
Operating expenses | 10% of cost of goods sold | 20% of cost of goods sold
Tax | 50% | 50%

T foos fied & gw@l @ oW fefafed sifegl & wemar 9 31.3.2010 @i
mgaﬁ%m@mmﬁamm

31.3.2009 31.3.2010
fapg I T A H AU F | 99 T AT H AR & 300%
200% % TS & TR
a9 Y A WA | ¥ 10,00,000 ¥ 12,00,000
e = 99 T A H AN B 10% | 9= T A K A0 H 20%
a0 ‘ 50% 50%
21. Calculate Current Ratio of a company from the following information : 4

Stock Turnover Ratio : 4 times

Stock in the beginning was ¥ 20 000 less than stock at the end.
Sales ¥ 6,00,000

Gross Profit Ratio 25%

Current Liabilities ¥ 60,000

Quick Ratio 075 : 1 |

frafafad ge @ & S & 9] oF9d & 0T SINT
RlH e 9 : 4 oM
IR wie, Af<m =ie ¥ T 20,000 F9 97 |
fasa Z 6,00,000
Y& A9 U 25%
A F@E T 60,000
T A 0-75 : 1

/,

67/2/1 : 13 ‘ ~ P.T.O.
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Companies Act 1956 :

Interest accrued on investments; Bills receivables; Proposed dividend;
Unclaimed dividend; Work-in-progress; Bills payable; Stores and spare
parts; Provident fund. ‘ '

aorh sffew 1956 @ G VI W 1 % smeR w3 ReRr fewr
frafafaa o - qe wisl & swla gl sd

vt | NQE ([ul) =, o= faw;, seafaa @i oA gar @ & wfg
R, <7 foe;, i qo i O, afesr faf |

N
23. From the following Balance Sheets of Varun Ltd. as on 31.3.2009 and
31.3.2010, prepare a ‘Cash Flow Statement’ : 6
31.3.2009 | 31.3.2010 31.3.2009 | 31.3.2010
Liabilities T 4 Assets T 4
Creditors | 50,000 | 45,000 | Cash 35,000 | 75,000
Bills Péyable 20,000 35,000 | Debtors 98,000 90,000
Bank Loan - 20,000 | Stock 87,000 | 1,20,000
Profit and Loss Alc 60,000 75,000 | Long term 15,000 10,000
investments
Share Capital 1,25,000 | 1,50,000 | Fixed assets 20,000 30,000 ,L -
2,55,000 | 3,25,000 2,55,000 | 3,25,000 1

Additional Information :

@d) During the year ¥ 15,000 depreciation was charged on fixed
assets. -

(ii) Company has paid ¥ 12,000 interim dividend during the year.
67/2/1 14
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31.3.2009 41 31.3.2010 F e f&. & frafafaa fafa el ¥ Vs v @
foawor 9T . ' '

31.3.2009 [ 31.3.2010 | 31.3.2009 | 31.3.2010
g 4 T | | % 2
AR 50,000 | 45,000 | I%% 35,000 | 75,000
3 foet 20,000 | 35,000 | 3R 98,000 | 90,0001
I% = — 20,000 | =% 87,000 | 1,20,000
a-gIf @ 60,000 | 75,000 | et e 15,000 | 10,000
dWg | 1,25,000 | 1,50,000 | R WERET | 20,000 | 30,000

2,55,000 | 3,25,000 2,55,000 | 3,25,000
fafier gal :

1) o ¥ Wt Rl | T 15,000 YIgN S TR
(i) FE I ad F A T 12,000 F IFRT A e R gom @ |

PART C

(Computerised Accounting)
(e A

17. What are block codes ? - 1
yavs frammafeat @@ § ? -

18. What is data validation ? : 1
HFY (TET) Jefiawo w1 2 ?

19. What is a ‘report’ in DBMS ? 2
ANy ¥ SEer v g 2

20. What is a join line in DBMS ? . 3
SA T § Sie @ 5 wed § 2

21. List the advantages of DBMS. 3

AN F A B gEEg F |
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